

Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$13,261,374.16	\$11,728,344.87
Contributions	\$34,000.00	\$1,315,900.00
Withdrawals	(\$180,000.00)	(\$540,000.00)
Transfers In/Out	\$0.00	\$0.00
Income	\$9,875.96	\$34,149.76
Administrative Expense	(\$181.31)	(\$999.86)
Investment Expense	(\$290.02)	(\$2,673.75)
Investment Manager Fees	(\$15.06)	(\$457.08)
IFA Loan Repayment	\$0.00	(\$9,469.63)
Adjustment	\$7,891.66	\$7,891.66
Realized Gain/Loss	\$25.14	\$4,025.72
Unrealized Gain/Loss	(\$184,774.63)	\$411,194.21
Ending Balance	\$12,947,905.90	\$12,947,905.90

Performance Summary:

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.33%)	(0.45%)	3.84%	N/A	N/A	N/A	N/A	3.78%	09/01/2022

Contact Information: Illinois Police Officers' Pension Investment Fund, 456 Fulton Street, Suite 402 Peoria, Illinois 61602 Phone: (309) 280-6464 Email: Info@ipopif.org



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$34.62	\$2,018.90
Contributions	\$0.00	\$0.00
Withdrawals	\$0.00	\$0.00
Transfers In/Out	(\$34.04)	(\$2,102.53)
Income	\$0.14	\$2.55
Administrative Expense	\$0.00	\$0.00
Investment Expense	\$0.00	\$0.00
Investment Manager Fees	\$0.00	\$0.00
IFA Loan Repayment	\$0.00	\$0.00
Adjustment	\$0.00	\$0.00
Realized Gain/Loss	(\$0.70)	\$65.02
Unrealized Gain/Loss	(\$0.02)	\$16.06
Ending Balance	\$0.00	\$0.00

Unit Value Summary:

	Current Period	Year to Date
Beginning Units	3.816	231.214
Unit Purchases from Additions	0.000	0.000
Unit Sales from Withdrawals	(3.816)	(231.214)
Ending Units	0.000	0.000
Period Beginning Net Asset Value per Unit Period Ending Net Asset Value per Unit	\$9.073836 \$0.000000	\$8.731284 \$0.000000

Performance Summary:

WORTH POLICE PENSION FUND

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	09/13/2022

Contact Information: Illinois Police Officers' Pension Investment Fund, 456 Fulton Street, Suite 402 Peoria, Illinois 61602 Phone: (309) 280-6464 Email: Info@ipopif.org



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$13,261,339.54	\$11,726,325.97
Contributions	\$34,000.00	\$1,315,900.00
Withdrawals	(\$180,000.00)	(\$540,000.00)
Transfers In/Out	\$34.04	\$2,102.53
Income	\$9,875.82	\$34,147.21
Administrative Expense	(\$181.31)	(\$999.86)
Investment Expense	(\$290.02)	(\$2,673.75)
Investment Manager Fees	(\$15.06)	(\$457.08)
IFA Loan Repayment	\$0.00	(\$9,469.63)
Adjustment	\$7,891.66	\$7,891.66
Realized Gain/Loss	\$25.84	\$3,960.70
Unrealized Gain/Loss	(\$184,774.61)	\$411,178.15
Ending Balance	\$12,947,905.90	\$12,947,905.90

Unit Value Summary:

	Current Period	Year to Date
Beginning Units	1,330,114.022	1,236,449.809
Unit Purchases from Additions	4,251.305	134,686.316
Unit Sales from Withdrawals	(18,103.955)	(54,874.752)
Ending Units	1,316,261.372	1,316,261.372
Period Beginning Net Asset Value per Unit Period Ending Net Asset Value per Unit	\$9.970077 \$9.836881	\$9.483855 \$9.836881
T chod Ending Not Asset Value per Onit	ψ0.000001	ψ9.000001

Performance Summary:

WORTH POLICE PENSION FUND

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.33%)	(0.45%)	3.83%	N/A	N/A	N/A	N/A	9.08%	09/23/2022

Contact Information: Illinois Police Officers' Pension Investment Fund, 456 Fulton Street, Suite 402 Peoria, Illinois 61602 Phone: (309) 280-6464 Email: Info@ipopif.org

Statement of Transaction Detail for the Month Ending 05/31/2023

WORTH POLICE PENSION FUND

Trade Date	Settle Date	Description	Amount	Unit Value	Units
Transition Pool					
05/25/2023	05/26/2023	Transfers Out	(34.04)	8.919671	(3.8160)
IPOPIF Pool					
05/01/2023	05/01/2023	Emerging Market Debt Adjustment	7,891.66	9.970077	791.5345
05/09/2023	05/10/2023	Redemptions	(180,000.00)	9.942579	(18,103.9547)
05/24/2023	05/25/2023	Contribution	34,000.00	9.837097	3,456.3042
05/25/2023	05/26/2023	Transfers In	34.04	9.820810	3.4661